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In a science experiment, when resistor A and resistor B are connected in a parallel circuit, the total resistance is [image: image11.png]
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Written in simplest form, the expression [image: image24.png]Rkt

I

Bl



 is equivalent to
1) [image: image25.png]


   2) [image: image26.png]N



   3) [image: image27.png]


   4) [image: image28.png]




7
The expression [image: image29.png]IR il

PP



 is equivalent to
1) [image: image30.png]a+ b



   2) [image: image31.png]


   3) [image: image32.png]


   4) [image: image33.png]




8
In simplest form, [image: image34.png]


 is equal to
1) [image: image35.png]


   2) [image: image36.png]


   3) [image: image37.png]x—y



   4) [image: image38.png]




9
The expression [image: image39.png]


 is equivalent to
1) [image: image40.png]


   2) [image: image41.png]


   3) [image: image42.png]


   4) [image: image43.png]




10
The expression [image: image44.png]ke

. R



 is equivalent to
1) [image: image45.png]


   2) [image: image46.png]


   3) 3   4) [image: image47.png]




11
The expression [image: image48.png]7

TS S



 is equivalent to
1) [image: image49.png]


   2) [image: image50.png]=

-

=
3

py



   3) [image: image51.png]


   4) [image: image52.png]




12
The fraction [image: image53.png]


 is equivalent to
1) [image: image54.png]2y
Tty



   2) [image: image55.png]


   3) [image: image56.png]


   4) [image: image57.png]2x





13
When simplified, the complex fraction [image: image58.png]


, is equivalent to
1) 1   2) [image: image59.png]


   3) [image: image60.png]


   4) [image: image61.png]




14
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In simplest form, the expression [image: image67.png]
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